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(i) EUE-FHYITGEIT1 T20 7T 20 T797 & UF I3 J97 Uk 37 BT 3 |
(ii) @UE-T § Yo7 GEa 21 G 26 7% 6 J97 & U Y% J97 3 b1 H18 |
(Gv) @UB-THYI7TEIT27 J34 7% 8 Y97 & Ud Yeieh Fo7 il 3751 HT & /
(v) EUE-F T YT GEIT35 T 40 TF 6 F97 8 U9 FeI% T TR JH1 H1 5 |
(i) TH-TF 7 GHT R B3 [4cT 51 & | T Uh-Tk 3k et & Fodl 8, ai-al 3l
Frcr g F91 8, -7 SHl diet @i 91 5, TR-TR 3Bl qrer di7 Fe 71 7 STaks
faheq Uy & | 08 g1 7 it wak & fareheq &1 IR o710 |
(vii) 3T JARFT, FTFFIHATIR, Te&FH IJFIFT 3K T & T FN T 14697 1gTTTE /|
(viii) FTFA F AT F FFAT T E |

@UE - &
T HEAT 1 — 10 o Sglohed] Y94 8 FH ek b1 1 37 & | |al forehed T |
1. kﬂﬁmwmmmﬁmx+2y=3,5x+ky+7=03T~F|"T?f%,%:

14 2
(@) -5 ®) = © 5 @ 10

2. WgIGa?—3x—m (m+3) h IR G :
(a) m,m+3 (b) -m, m+3 (¢ m—-(m+3) (d) —-m —(m+3)

3. gfwas fawrem yafes & 18R &1 9aTes UTis a 3 b & fou W sifgde 1ot v
qﬁ(rﬁ'ﬂﬂﬁ%ﬁa=bq+r%ﬂm
(a) 0<r<b (b)y O<r<b
(c) 0<r<b (d 0<r<b

4.  HEAT 196 % FAHTSI-TUHEVE H AT TUEUS] <h! HTdi b1 AT &

@3 (b) 4 © 5 @ 2
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Read the following instructions very carefully and strictly follow them :

(1) This question paper comprises four sections — A, B, C and D.

This question paper carries 40 questions. All questions are compulsory.

(i1) Section A — Question no. 1 to 20 comprises of 20 questions of one mark
each.

(iti) Section B — Question no. 21 to 26 comprises of 6 questions of two
marks each.

(iv) Section C — Question no. 27 to 34 comprises of 8 questions of three
marks each.

v) Section D — Question no. 35 to 40 comprises of 6 questions of four
marks each.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in 2 questions of one mark, 2 questions of two
marks, 8 questions of three marks and 3 questions of four marks. You
have to attempt only one of the choices in such questions.

(vii) In addition to this, separate instructions are given with each section
and question, wherever necessary.

(viti) Use of calculators is not permitted.

General Instructions :

Section — A

Question numbers 1 to 10 are multiple choice questions of 1 mark each.
Select the correct option.

1. The value of k for which the system of linear equations x + 2y = 3,
bx + ky + 7 =0 is inconsistent is

14 2
@ -3 ®) £ © 5 @ 10

2.  The zeroes of the polynomial x> — 3x —m (m + 3) are
(a) m,m+3 (b) -m, m+3 (¢) m, —(m + 3) (d) —m, (m+3)

3. Euelid’s division Lemma states that for two positive integers a and b,
there exists unique integer q and r satisfying a =bq + r, and
(a) 0<r<b (b) O0<r<b
(c) 0<r<b (d 0<r=<b

4. The sum of exponents of prime factors in the prime-factorisation of 196 is

(a) 3 (b) 4 (© 5 @ 2
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5. aAgTag P (6, 2), §gati A6, 5) 1 B(4, y) I THeTH aTel {@RETE &1 3 : 1 % I

ﬁm%ﬁhquﬂ%:

(@) 4 (b) 3 (¢) 2 @ 1
6. mﬁg%ﬁémm \_rhﬁlg (=3, 5) T x — & H YT (reflection) &, & :

(@ 3.5) (b) (3,-5) (© (3,-D) (d (3.5
7. x-378 W fRyd feig P S fegaai A(-1, 0) 91 B(5, 0) U oAt 8, & -

(@ (2,0 (b) (0, 2) © 3,0) @ @, 2)
8. W@l@a, 3a, da, ...... HTndi e &

(a) na (b) Cn—-1)a (0 @n+1)a (d) 2na

1 1

@ 1 ® 5 © -1 @ -3
10. Tgam @i a2 —0.04=0F qA & :

(a) +0.2 (b) +0.02 (00 04 d) 2

THEET 11 — 15 7 1 fh wr afa i g 11 35 2 |
11. 3epfd 1 H &g A %1 fagati O, @1 O, | ¢&H T S A0 10 3hA: &

B C
SATHA-1
12. SAHG2HMN | BCRA@TAM : MB=1:2%,d
ar(A AMN)
ar(AABC) — —————
A
M N
B C
TR A-2

.30/2/2. 4
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5. If the point P (6, 2) divides the line segment joining A(6, 5) and B(4, y) in the
ratio 3 : 1, then the value of y is

(a) 4 b) 3 (© 2 d 1
6. The co-ordinates of the point which is reflection of point (=3, 5) in x-axis
are
(@ 3,5 b) (3,-5) (© (=3,-5) (d) 3,5
7. The point P on x-axis equidistant from the points A(-1, 0) and B(5, 0) is
(a) 2,0) (b) O, 2) © 3,0 d @, 2)
8.  The n'® term of the A.P. a, 3a, ba, ...... is
(a) na b) Zn—-1)a © @Cn+1a (d) 2na
9. The common difference of the A.P. %, 1_;E, 1__132]2, ...... 1s
@ 1 ® 1 © -1 @ -2
? p . p

10. The roots of the quadratic equation x> —0.04 = 0 are
(a) +0.2 (b) +0.02 (¢ 04 d) 2

In Q. Nos. 11 to 15, fill in the blanks. Each question is of 1 mark :
11. Infig. 1, the angles of depressions from the observing positions O, and O,

respectively of the object A are

Fig.-1
12. Infig. 2, MN || BCand AM: MB =1 : 2, then
ar(A AMN)
ar(AABC)
A
M N
B C
Fig.-2
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13, <1773 3Tl 3 H, wams PB = I,

B
JATHA-3
14. W AABCHAB =643 3Hl, AC =12 4 a1 BC = 6 Tl 8 | «B &l 99 3
Fa
G1 TSl JeeET 2l &, 3G 3eh! W1 YSTe g1

15. sin 23° cos 67° + cos 23° sin 67° EETITFI%

I AT 16 — 20 Toh o1g I YohR b T &, (18 8 Tcdeh 1 3 1 8 |
16. 3TBld 4 § s 10.5 A1, oTed I 1 U Frsar@vs fean 2 | 39 Psaavs &1 aiwm
22

1 HIFT | (n=7FﬁﬁN)

A B
v
0
SATHA-4
17. afg 9@t -3, =2, —1, 0, 1, 2, 3 ¥ | U &A1 x IGSA A 5 al &2 < 4 hl
TRl 1A 19T |
Freran

ferelt Agesa 94 U ol 9 § 52 Tqar &M 1 wifdeRdr I § 2
18. T T Ush 9R IS 7T | Teh STHTSA HEAT o 3T 1 TTehdl 1 8 7
19. afetan A = cot B &, @1 (A + B) T A 4 il |
20. =t 15 — 35 3 45 — 60 % =i forg 71 hifT |

.30/2/2. 6




www.cbseboardonline.com

=

13. In given Fig. 3, the length PB = cm.

A

A\

B
Fig.-3

14. In AABC, AB=64/3 em, AC =12 em and BC =6 em, then ZB=
OR

Two triangles are similar if their corresponding sides are
15. The value of sin 23° cos 67° + cos 23° sin 67° is
@Q Nos. 16 to 20 are short answer type questions of 1 mark each.

16. In fig. 4 is a sector of circle of radius 10.5 em. Find the perimeter of the

22
sector. (Take m= 7)

V
O
Fig.-4

17. If a number x is chosen at random from the numbers -3, -2, -1, 0, 1, 2, 3,
then find the probability of x* < 4.
OR

What is the probability that a randomly taken leap year has 52 Sundays ?
18. A dieis thrown once. What is the probability of getting a prime number.
19. If tan A = cot B, then find the value of (A + B).
20. Find the class marks of the classes 15 — 35 and 45 — 60.
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I HEAT 21 — 26 Th Tk T h 2 37 & |
21. T HALATH 4 379 10 Tornfi=i § & Tk ! Teh HFTS T Th 9L ATl Teh TEIG [T@hT
o w1 el | Taentedi & s 9

20+3, 32+ Tu+2, 43+32+2, a2 +Bx+ 7, Ta+fT, Bxd—Tu+ 2,

2;x,2+3—é, Sx—l, ax® +bx? +cx +d, x+l.
X 2 x
o ot & ST e

() 39 g H fepa wgue 8l @ ?

(ii) 39 g 1 fepa fgmma sgug 8 2

22. T SRERAT 527 1 SgeTh [ ST -
T AR |0 —4 [4-8 (812121616 —20 [20 — 24 |24 — 28
(&t )

FARERAT 5 7 9 17 12 10 6

23. (A 5 H U &l A9R BC W & g1 s ABC @a1 DBC 2 | afg AD |31 BC %10
T hled] 8, al eIy foh

ar (AABC) AO
ar(A DBC) — DO

/
ATHA-5
KOG |
FBId 6 Al AD L BC 2 di fag e s AB? + CD? = BD? + AC2.
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Section - B
Q. Nos. 21 to 26 carry 2 marks each.

21. A teacher asked 10 of his students to write a polynomial in one variable
on a paper and then to handover the paper. The following were the
answers given by the students :

20+ 3, 32+ Tw+2, 4+ 302+ 2, 2 +43x+ 7, Tw+7, 523 — Tw + 2,

5 1 1
282 +3 -7, Sx—75, a® +bx® +ex+d, x+T
X 2 x

Answer the following questions :
(1) How many of the above ten, are not polynomials ?

(1i1) How many of the above ten, are quadratic polynomials ?

22. Compute the mode for the following frequency distribution :

Size of items |[0—-4[4-8|8-12(12-16|16 —-20|20—-24 |24 —28
(in cm)
Frequency 5 7 9 17 12 10 6

23. In fig. 5, ABC and DBC are two triangles on the same base BC. If AD
intersects BC at O, show that
ar AABC) AO
ar(ADBC) DO

Fig.-5
OR
In fig. 6, if AD L BC, then prove that AB?+ CD? = BD? + AC?.

.30/2/2. 9 P.T.O.
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24. ﬁ:@ﬁﬁlﬁ 1 +00t—a=coseca

1 + cosec o
AU

293t fh tan®0 + tan20 = sec*d — sec?0

25. Ueh o= o I UHT T & 18k ©: Hetehi T - 378 3ifera 8
LAllA] Bl cl[c][c]
39 I o] Ush o1 SBTCATTTAT | $Heh! oI JTrehdl & fob (1) A ITA &1 (i) C 9T &r ?

26. Th 3, Th 374 Mol W ARG T THH YR 11 & 9 o BB &1 2 | Afe
FATHR AT FUT SR W b S5k 81T &Ah GHM &, dl (A1 a1 IeaehR JI
1 TS T I FTd ShiTrT |
w|Ug -1
T HEAT 27 H 34 T TIH T h 3 IH @ |

27. 3Hfd 7 HAfg A ABC ~ A DEF 2 T 3eh1 Y113i] b1 efasat (3fi #) 37 W 3ifeha &,
?ﬁmﬁgﬁﬁgﬁmﬁaﬁﬁﬁémmﬁl

AA

2x + 2 ‘, E 3x+9 F

28. G U I Th S ABC &1 9= BCaﬁmeﬁw%wa@@ﬁ o3t AB a1
AC I HAY: Q YT R W T3] a1 7, a1 fog Shifsu

1
AQ:§ BC+ CA+AB)

29. T JAR WA o HGH 1 &Ahd 22176 HHfi? 3 | 39 HGH % TRI 3R F1E TIH 1 &
% 50 Tfd et o Wre & 37 Shifg |

30. AE2w+y=23 AT dx—y =19 & A Gy — 2x) 7T [l—zj % O ST HIFT |

x
FHYE

1 1 11
x%%ﬂl%ﬁ%il\ﬁﬂ: A a7 % x#—4,7

.30/2/2. 10
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cot? a

1 + cosec o

OR
Show that tan*0 + tan?0 = sec*® — sec?0

24. Provethat 1 + = cosec o

25. A child has a die whose six faces show the letters as shown below :
LAllAl[B[c]Lc]lc]
The die is thrown once. What is the probability of getting () A, (1) C ?

26. A solid is in the shape of a cone mounted on a hemisphere of same base
radius. If the curved surface areas of the hemispherical part and the
conical part are equal, then find the ratio of the radius and the height of
the conical part.

Section - C

Q Nos. 27 to 34 carry 3 marks each.

27. In Fig. 7,1f A ABC ~ A DEF and their sides of lengths (in cm) are marked
along them, then find the lengths of sides of each triangle.

A D

B 2¢+2 C E 3x+9 F
Fig.-7

28. If a circle touches the side BC of a triangle ABC at P and extended sides AB
and AC at Q and R, respectively, prove that

1
AQ:§ (BC+ CA+ AB)

29. The area of a circular play ground is 22176 cm?. Find the cost of fencing
this ground at the rate of ¥ 50 per metre.

30. If 2x +y =23 and 4x—y = 19, find the value of 5y — 2x) and [l —2].
x

OR

1 1 11
Solve for x : et d " xt+ 7 ZSO,x#—él, 7.

.30/2/2. 11 P.T.O.
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31. afg fgatt A, 4) 7T B(k, 6) %1 fireiv oot t@r@s &1 7 fig P (x, y) 2 a1
x+y—10=0%,dl kA Fq HIT |
JrerE
s ABC, f5|d A (1, —4) 1 A 8 SH a1efl g1t & " foig (2, —1) 991 (0, —1)
2, 1 &%l TTd ehHiaTT |

32. e Ush TUIR U o TUH m TS 1 IR n & GUT 39 TUH n 91 &1 47 m &, ql &g
ﬁﬁq%gﬂﬁm(m+n)qﬁww-(m+n)gl

e
Teh T F¢1 o A4t 11 UG) o1 AFTHS TTd hifore, a1 7ea1g 30 2 |

33. Ueh oo I ared] Tl 600 Tp. 1. <t I o ueh ot e ATl el 9 3 He
T ot 8 | At et aeq ol Il i =T, O g arell el i = 3 10
o.M /EreT U B, 1 Tcdeh TS oh1 TTeT 7T shiToT |

1
34. IE1+sin>0=3sin 0 cos O, AIfagHufF tan 0 =1 YT 5.

e -9
99 HEAT 35 H 40 doh Teh Y3k 4 36 2 |

35. T SRERAT §icd ST A 18 & | 9 37a0et 19 — 21 i SRANAT £« & | £ Fd shifag |
it |11-13[13-15|15-17|17-19|19 - 21|21 - 23|23 - 25

AR 3 6 9 13 f 5 4
e

o arferent weh i % 100 g 5 BT 31 Ui gea IedTe It & -

IeuTE 40 — 45|45 —50{50 — 55|55 - 60|60 — 65|65 — 70

T R T 4 6 16 20 30 24

3 A 1 “W JMUh THR & e o 9 H Fceiohl IHhT dIul Fir=T |

.30/2/2. 12
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31. If the mid-point of the line segment joining the points A(3, 4) and
Bk, 6)is P (x, y) and x + y — 10 =0, find the value of k.
OR

Find the area of triangle ABC with A (1, —4) and the mid-points of sides
through A being (2, —1) and (0, -1).

32. Ifin an A.P., the sum of first m terms is n and the sum of its first n terms is
m, then prove that the sum of its first (m + n) terms is —(m + n).

OR
Find the sum of all 11 terms of an A.P. whose middle term is 30.

33. A fast train takes 3 hours less than a slow train for a journey of 600 km. If
the speed of the slow train is 10 km/h less than that of the fast train, find
the speed of each train.

1
34. If1+sin?0 =23 sin 0 cos 0, prove that tan 6 =1 or 9

Section - D
Q. Nos. 35 to 40 carry 4 marks each.

35. The mean of the following frequency distribution is 18. The frequency f in
the class interval 19 — 21 is missing. Determine f.

Class interval [11-13|13-15|15-17|17-19|19-21|21 -23|23 -25

Frequency 3 6 9 13 f 5 4

OR

The following table gives production yield per hectare of wheat of 100
farms of a village :

Production yield |40 —45(45—-50|50—-55{55—-60(60—65|65—70

No. of farms 4 6 16 20 30 24

Change the distribution to a ‘more than’ type distribution and draw its
ogive.

.30/2/2. 13 P.T.O.
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3Tl 8 T T@ifehd &7 I &A% 1A hiTag Al¢ PQ = 24 T4, PR =7 ¥ a1 O 9
HHEE |
Q

R P
SATHA-8
U

Th W% o =1 o b I8 1 &A% H1d Hilg To@eh gt Fall & =am 20 Hi.aen
6 . & T 3Teh! TS 24 H. B |

fag Hitmu e bt sfom den § |

21 UTST1 o TIFT § Ueh qlUT-dTed (swimming pool) okl 12 E¢ | Y71 ST Tehal & | (e 5
ST ATt TS b 4 B TANT hi a9 BIS SFTH dTed U189 1 9 B TI hi i dqred T
YT 71 Hehd1 & | Tedeh ITSY b ATt Wi o foTT 3TeTT - 3707 fehaT |9 < ?

4 Tef} 55971 < Tk 9 R Q) UHT T991 W@l G S e 60° %110 S Al |
Ok
T TS ABC oh1 =1 hIfT Toreeh! Yomd 3 Tl 4 9t qu1 5 9l 81 | 319 T 31

o o1 e AR el ST A ABC o s S

Teh IR o 115 foig § Teh 9o o T3e 31 3=13 =101 30° 8 3TN Wel o TG foig ¥ WHR
o TINEt 1 3= 101 60° B | Ifeg THR 50 Y. 3=t 81 91 Yo hl =18 J1d shiferd |
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36. Find the area of the shaded region in fig. 8, if PQ = 24 em, PR = 7 em and

O is the centre of the circle.

OR

Find the curved surface area of the frustum of a cone, the diameters of
whose circular ends are 20 m and 6 m and its height is 24 m.

37. Prove that \(g is an irrational number.

38. It can take 12 hours to fill a swimming pool using two pipes. If the pipe of
larger diameter is used for four hours and the pipe of smaller diameter for
9 hours, only half of the pool can be filled. How long would it take for each
pipe to fill the pool separately ?

39. Draw two tangents to a circle of radius 4 em, which are inclined to each
other at an angle of 60°.

OR

Construct a triangle ABC with sides 3 em, 4 em and 5 em. Now, construct

4
another triangle whose sides are 5 times the corresponding sides of

A ABC.

40. The angle of elevation of the top of a building from the foot of a tower is
30° and the angle of elevation of the top of a tower from the foot of the

building is 60°. If the tower is 50 m high, then find the height of the
building.

.30/2/2. 15
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